FF1500m (19 A X 3#H) TIE

AEEHH BiE:
No. P&ciakag 51 K4 VA or PERI or fiH EKC
AR FAEA
14
1| 5845[ 1A ffst YvEh 2473 1 B |AEH H 1500 6.30
2| 5763|HA it URER 4JY 1 5| ZRE T GES 1500]  6.30
3|  6148[k il Ktk YT GARY 1 B | F k= 1500]  6.00
4|  8085|VEE ik ' FE 1 B EEF GES 1500]  5.55
5| 8086[irA% £ kY ayvak 1 B R o 1500|  5.55
6| 8087[f:m ok A4 ETR 1 B EEF GES 1500]  5.55
7| 8089kt & WA vaya’ 1 B R o 1500|  5.55
8| 4715 M HHh FHE ¥AY 1 By GES 1500|  5.52
9| 58IT|BKI HUKER 4 2y ay 3 | K th 1500]  5.50
10[  8081|/ 1l #EK ey ayh'q 3 B EEF GES 1500]  5.50
11 8083|JFH Heth NIE Y 2 B R o 1500]  5.50
12|  8092|%id #&ith 3y vayy 1 B EEF ES 1500]  5.50
13| 7279( A =L FHALT < b 1 5B ea e e 1500 5.45
14 3200|H & i V& REV; 2 B |mEf ES 1500|  5.45
15[ 5761|EF HE ANNT By~ 1 B |ERE R g 1500 5.45
16 4713|FFR && 2FNT AT 1 5 [ BES 1500 5.44
17| 6194|#i8 #BE Y7 ¥)ay 3 5B [t k= 1500|  5.41
18 5901|#1L £ B AT 2 B [KFn th 1500]  5.40
19 5910 Eth ea'Y 4% 1 5B | K e 1500 5.40
248
1| 1316|im HEX Y=/ F ank 1 J5 |k ES 1500]  5.40
2| 4708[1LA Kb YoEh 4 4F 1 B e i 1500  5.37
3| 1317\ S FHAY Yavh 1 J5 |k BES 1500]  5.35
4| 5762(M%E HH Ah) vk 1 B | ZEE T thg 1500]  5.30
5| 6193|& 5% EDAIN SENES 1 B[R BES 1500 5.22
6| SILL|ET)I #hA SEY VL ES 1 5| K thg 1500]  5.20
7| 3048|4%m 3} FHrs VAR 2 5| g 1500]  5.20
8| 7998|/hil v~ b 1 5 [HERTH o 1500 5.20
9| 5B8T1|F &K ey NEVL 1 VS BES 1500 5.20
10[  5660[5J11 &} YA 7uk 1 B | ZR e 1500]  5.20
11| 8084|#2H fa=} BB b 1 B EEF g 1500]  5.20
12| 8088|&H #t/% S 1 B EEP s 1500]  5.20
13|  8091[AH Al M FAT* 1 B [EEF i 1500 5.20
14| 4526 F#k 3 EINTY INY 2 B[k i 1500 5.15
15[ 4655|17H HH BIA LT TR 1 5 |mET the 1500]  5.13
16  1309|H & Bl FHY'2 Varyy 1 J |k s 1500|  5.10
17| 4566|115 & VUNEEY S 1 F | the 1500]  5.10
18| 3053|#E=E #EK EP DA 1 B | TREH i 1500 5.10
19| 7901[7r® SCik 7 73Y 3 B =kt i 1500 5.10
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348
1| 4535|8E L NSV 1 e the 1500]  5.05
2|  4534|F  JEF INAZULN 1 B |lE&T o 1500]  5.05
3| 5878|kEN LsF TH 3 B A HE o 1500]  5.00
4] 7282\ (HE 7Y ayv 1 B | th 1500  4.59
5| 7280|fA KT AHEN 2y~ 1 5B [ e th 1500]  4.58
6| 7995 FH LEE E74 N= 2 B |HEET th 1500  4.57
7| 7999|EA vERE TS Yarh' 1 B |ERT th 1500  4.57
8| 5865|FLil 2 Y 3 B |\ i 1500 4.50
9] 3804|R N B [RIEETRC mie-— 1500  4.45
10[  4656[1LHE =¥ Y4 Ak 1 B |[mEp e 1500  4.44
11| 16284 E 15 YOUESIEY 1 J @k o 1500  4.36
12| 4657|f%H s Y24 Yaysuy 1 F o |mEF th 1500  4.36
13| 10784k f&7R NV 1 B |WSE G Ee— 15000  4.35
14 4654|H T B Ve RV, 1 5 |mEF the 1500  4.34
15| 16281|#Hm fif LR 1 B &Lk e 1500]  4.33
16  6191|41l B+ FhY< T4 3 5|k FE v GES 1500  4.31
17| 145708 m 2 NCEVES 1 B (Mg i 1500  4.30
18| 14572|7 HHE EPZ R 1 B g GES 1500  4.30
19| 4646|Fn@ R 74 areA 2 B |mEP th 1500  4.20
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AEEHH BiE:
No. P&ciakag 51 K4 VA or PERI or TEH ook
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14
1| 7579|8iEN B FHAHAF FEY 1 B BT the 3000 17.20
2| 7581|FEF B PadNENZ 1 Bl LT th 3000 14.22
3| 7583[A K =VEN AR 1 B LT th 3000 13.09
4| 7582l 1&H Fhy~ 2% 1 B ETF o 3000 13.06
5 6176[ZA& #K X' Eh 24 1 G | GES 3000 13.00
6| 6177[ Hems TR At A 1 5|t th 3000 13.00
7| 14602|HK 4 3apm 7k 1 B\ AR th 3000 13.00
8| 5HOST|HIA Fak VAL 2 B[R Hi 3000| 12.48
9| 1923|mHKk Fo= MAYF HA= 2 oo G 3000| 12.46
10[ 1912|4%H &R SN VA DA 1 B [ames e 3000 12.30
11| 53558 UK VANEVL 2 B ES 3000 12.30
12| 7580| M Pk 47°F h4¥A4 1 Bl LT th 3000 12.28
13[HEEH |EsF & 7Y% TAA 1 B[R ES 3000| 12.15
14| 7576|#& FEX ) YIh 3 Bl LT th 3000 12.04
15 4770[1LfE s YoAD by 1 B | B ES 3000 12.00
16| 14605|1Lt Hit Y<FH Uy 1 AR th 3000 12.00
17[HEEH |[#h =5 INOZEDIE 3 B[R ES 3000 12.00
18]  1917|)11E BhE IR HAY 1 BHolomd th 3000 11.50
19 4771|RE Hi=E SOIAEV 1 B | B ES 3000 11.50
20|  4590|(FE HEA A7 < h 2 B[Rk th 3000 11.50
21| 7571 EiR ay'ay <o 3 B[ ETFH i 3000| 11.46
22| 5092(MH L TV ayy 1 5| the 3000 11.40
23|  6147|%) HiAr THIY Ak 1 F | F g 3000 11.30
24| 14603|MiA {7 AlEL 2%y 1 L2V N thg 3000 11.30
25| 14600[4H: fHhR YOZRL TNl 1 B AR theg 3000 11.30
26|  4587|/NEF FHEE *) vayt 2 B PRk HiE 3000{ 11.30
27| 1914[#MH EA 224" FAb 1 Holams theg 3000 11.25
28|  6259|1E[HE {EHn )7 HA 3 B At thg 3000 11.20
29| 4682w s nEY A 2 | theg 3000| 11.10
30| 4514|E1E 2 VYA 2t 3 B[ i 3000| 11.10
31|  5753|iEME etk ¥3t vavk 3 B |=EEE LT i 3000| 11.10
32| 5754|EIFR b AN NT AER 3 B | SRR thg 3000 11.10
33| 4684|miEL H— AN 2l F 2 BB the 3000( 11.07
34|  1911|AHEHN MR rIFA Iy 1 Bl thg 3000( 11.05
35| 4910[kaJ5 SRR <YNT FE | 2 5| BURE PR R 3000( 11.05
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AEEHH BiE:
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1| 5090|3H HAH IR LY 1 B RS GES 3000 11.00
2| 5840[&% B J7 b4 20 1 F AR GES 3000 11.00
3| 3191 Bk VLEVES 3 B [EmE Hi 3000{ 11.00
4  3193|fHEE EK e 2 B [EmEs ES 3000{ 11.00
5| 3194| kW K& VET AP YES 2 B [EmE Hi 3000{ 11.00
6| 3197|HA HE FHE I~ 2 L ES 3000{ 11.00
7| 3198|iEK Hf VIR AIVE 2 B |mEP o 3000 11.00
8| 3201|&%A BT IAER AIVE 1 B |[EmEs ES 3000{ 11.00
9| 3202|FH {FKH EPA VAV il 1 B [EmE o 3000 11.00
10[  4773|EA HEA =VEh AYR 1 5B [ GES 3000 11.00
11 4317\ A HOE 1Y) zTy~A 1 F o |ReEr e 3000 11.00
12 4321)iimk fHEA Y<7'% a4k 1 J|neErp ES 3000 11.00
13| 7574|fiR M YINT 2y 3 B ETF e 3000 10.58
14 880( 1Lk S Yo% avk 1 B R BEEEERE [ 3000]  10.57
15[ 1907|# &5 NETT a2yt 1 B o[ame e 3000 10.55
16| 4068| == Hk Y YAt B |wAZ—XEE |tk 3000 10.55
17 4599|/vbk K% an'Yy A 1 B\ th 3000 10.55
18| 14609|t#5 B TENT Yay 1 B\ th 3000( 10.55
19 14608|&# =AB=H VAZER SN 1 B\ th 3000 10.55
20| 21235 HPY NIH TEY 1 B EE=Fnsh the 3000 10.54
21| 3052|wbJE g} AFNT HAR 1 B | TRE S e 3000 10.50
22|  5654|H7 A ¥ 477 2 BOZE g 3000{ 10.50
23| 5657|dE)1 BEA ¥AHT YR 2 B o=E thg 3000 10.50
24| 6275|E M B} 243 TR 2 B [fE e theg 3000 10.50
25| 6277|%HE Fhye )y 2 5 [@ e thg 3000 10.50
26| 6296|I4 FI0°4 e 1 B k@ L g 3000{ 10.50
27| 4647/NPE AH—ER azy ayfFay 2 B [mEp LS 3000{ 10.49
28| 6285|EHE AR VoV ER g 2 F [ g 3000 10.48
29| 6286|HmE LA Ay 2 B |y i 3000{ 10.48
30| 6141|KkRk 167 NEFY VR 2 F | F e 3000 10.45
31|  4752|phvh TEAT FERFH <k 3 5| R s 3000 10.45
32| 47571 — AYNT N R 3 BB i 3000{ 10.45
33| 14607| Ll Rk Yo% Ak 1 5P\ thg 3000 10.45
34| 4703\ HEX THA 2y 2 By ES 3000 10.43
35| 5896|1TA 3} akbd bop 3 F | K thg 3000( 10.40
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3%
1 1303 |l fit < VN kry 3 5 [+ g 3000] 10.40
2| 3050P)1IR B VMR 2 B | RE s th 3000 10.40
3| 4683|5FH Jeth )Y ayry 2 B |BR k= 3000 10.40
4]  6325|HA K MIER 1 B | GES 3000 10.40
5|  6145[1LF HeA Yo% arvd 2 B [H L Hhy 3000{ 10.40
6] 6164[Iak ¥ <% bhv 3 G |k GES 3000 10.40
7| 6179|3LIL MY Ly 1 B[t Hi 3000{ 10.40
8| 3199[HimE =ik TN ank 2 o |mE GES 3000 10.40
9| 4711|&r L RSNV 1 B [ th 3000 10.40
10[  5655|1LI% &l Yvvm agay 2 B O|=EE th 3000 10.40
11| 14604 |#EH Eih TV E H A 1 B\ th 3000 10.40
12| 4592|/N\8F hiD WAEUES 2 B\ the 3000 10.40
13[  4313|EH =ih FAA <Y 1 F o |ReEr e 3000 10.40
14|  4318|EdA fiid y=%h aytA 1 B |resp BES 3000{ 10.40
15 4320|¥A R NYEN FUN4 1 F o |ReEr e 3000 10.40
16| 535114 1 gz ank 3 B ES 3000( 10.38
17 6257|&A HEAL Y 3 5 [ Hhy 3000{ 10.36
18| 4756|FRHA HE 4T <Hh 3 5B [ ES 3000( 10.35
19 4727[ILk % YoEh 24% 2 B o|@mENEF e 3000{ 10.35
20|  5894|EN: B} 7Y Wb 3 F | K th 3000 10.30
21| 5895[ R Rk <k aved 3 5| Ko thg 3000 10.30
22| 5899|fEAS HEE TIEN AR 2 B | KFn th 3000 10.30
23| 6320|/M1 FEC AN AT 2 B[ 2 3000| 10.30
24| 5835 ERM b yug’ ap 2 B g 3000 10.30
25| 5846|H R E kst EPNEVES 1 B AR e 3000 10.30
26| 5870|kaA fEE <VEL Ayt 2 VS s BES 3000{ 10.30
27|  ATT6|ZRHE Fepk AT Y AT 3 BB 2 3000| 10.30
28| 5750 =K BHK N 2 B | ERE T theg 3000 10.30
29|  5755|HEF Fifl FHh) I 2 B | ERE T e 3000 10.30
30| 5757[ILA f&K YeEh 244 2 B | ERE T theg 3000 10.30
31| 5758|f M Hik W sy 2 B | SRR thg 3000 10.30
32| 5760 nik VAN MY 1 B EREE LT E 3000 10.30
33| 5658|HE A FHN Fay 2 2 BO|ZE thg 3000 10.30
34| 4245 kE —H AN BA= 3 5 g the 3000 10.30
35|  4248|fm Ah4 2k 2 J s 3000 10.30
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1| 4249 WEKE AH Vaun’ 2 % Em GES 3000 10.30

2| 4251[EF Ik HhA 44 2 5 [ GES 3000 10.30

3| 14610(m=H% #ok BHNY TUkE 1 B th 3000 10.30
A|FRFE [feE it SAVAEYES 3 5 GES 3000 10.30

5| 1922 BHK NT 44 2 B [ames e 3000 10.29

6| 11933[%r Fh) HAk 3 oo GES 3000 10.29

7| 7994 f&H E vk 2 5 |HEmy o 3000 10.29

8| FHFEH | Alam AN 73 3 5 GES 3000( 10.28

9] 5084|f = VAN 2 B[R o 3000 10.26
10[ 4677|488 Bk HFa= ers 3 F B GES 3000 10.25
11 5833|=Hfh A N Bk 3 B AR e 3000 10.25
12| 5662|/nE Z} EVENLE 1 B o[EE th 3000( 10.25
13|  4303|=L #iF N/NIEAN 3 F o |ReEr e 3000 10.25
14 4364|FEFt Z=LL =Y L7 A 2 B BES 3000| 10.24
15[ 2122|774 B A B KT AV 2 B EE =fo th 3000 10.23
16| 11936|MHER ik LS ENEEY 3 BHolams ES 3000( 10.23
17\ 4311|#L wEdl 7YY Jayry 2 F o |ReEr k= 3000 10.23
18] 4907|1kE (i AVAAY 2 B | BRERRE e 3000{ 10.22
19  4678|FA —iF FVEN A0 3 5 |kah th 3000 10.21
20|  4687|HiE fE A FHFY as 2 F B g 3000| 10.21
21| 3196|Zh i Yk EVYYs 2 B |mEf e 3000 10.20
22|  AT6T|HEF B FHh) Raury 2 B[R g 3000 10.20
23| 4589 kAR i AAEY VAl 2 B\ thg 3000 10.20
24| 6284|/hE BEX 2 44 2 B k@ L g 3000{ 10.20
25|  4913|Etky KA By BA% 1 B [REERRER [ 3000| 10.16
26| AT16|MpHK FEKED VERNIEDZ ) 1 5 [ BES 3000{ 10.16
27| 3042|/hAEE Sk AHHFIT B 3 B | TRE S e 3000 10.15
28|  3043|mbJE HEST AFNT DAY 2 3 F | g 3000 10.15
29| 3044(fEE {= AntE vy 3 B | TRE S e 3000 10.15
30| 305131 HKE RIAY )< 1 B [Fmp g 3000 10.15
31 752|7F vy B[ KFEkS sie- i 3000[  10.15
32 Th4|1 e B B=3Y Yayy B [ KfnEks s 3000[  10.15
33| 58362 AHt AFNT Ak’ 2 A E N i 3000| 10.15
34| 6132\ KFE {htt YA ayyay 3 B |H i 3000] 10.15
35| 6135[KkMH T FHE JayAF 3 B |F s 3000 10.15
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548
1| 7991| | #nt Ahyx agh 3 5B |HERrH GES 3000{ 10.15
2| 4523k i A= Ly 2 B[k GES 3000( 10.15
3| 5747 BfE 4o b)Y 3 B | ZEE AT o 3000{ 10.15
4|  5748|)1FFREA #94 Y7h 2 J | ERE LT i 3000( 10.15
5| 57491/ME HREA an'y Byay 2 B ERE R Hhy 3000{ 10.15
6| 5756|MK &4 44 TAA 2 J | ERE LT i 3000( 10.15
7| 5656| - 5 LN Vay 2 B o|=E o o 3000 10.15
8| 4220[rm WHiE SZEVEN 3 L S e T s S 3000 10.14
9|  4695(4 ] f— A=AH frAF 3 B [ o 3000 10.14
10[ 11938|{EH fak YU 3 oo GES 3000( 10.13
11 6282/ 153 any 43 3 B @ L H 3000{ 10.12
12|  5893[1LA % YoEh Vay 3 F | K Gk 3000 10.10
13| 4688|#iA K& NYEN 4484 2 5|k th 3000 10.10
14 4689|¥ 1 Mk $h'F a2y 1 F B ES 3000 10.10
15[  6326[HE K 1 ALY 1 5 [Em e 3000 10.09
16 2124[@H K 78 <Hh 1 B EE=FnHh the 3000 10.06
17| 5752\ H ARV b 2 B | ZEE R k= 3000 10.05
18| 4216 EfE HaX Vauny Ik 3 B ks [y 3000{ 10.04
19  4693|= /5 EHR YT FAY 3 5B [k e 3000 10.04
20|  A217|WEST HhAy QANEVE S 3 B ke [ 3000{ 10.01
21| 5088 (Ll BEx: AEAE (N 2 F[EEEp i 3000{ 10.01
22| 5891|#EM B 40 ay )2 3 B | KFn th 3000 10.00
23| 3057|0rE BE ANy Vv 3 B | TRE S e 3000 10.00
24| 4685| =i A E 7F U7 2 | th 3000 10.00
25|  6133|HAt it FHAT TH 3 B |F e 3000 10.00
26| 6161k MEE s V= 3 B[R BES 3000{ 10.00
27| 6166k KA Y7 b 2 B | 2 3000| 10.00
28| 61701 B TVAT A7% 2 J |tk g 3000 10.00
29| 4524|HH EK 4F# Ftn 2 B[ i 3000| 10.00
30| 56511k K AV 3 B o[=E o th 3000 10.00
31| 5661|7#H% BEF YA zAh 1 B o= E s 3000 10.00
32| 4243|F% st T A#7h 3 5 g ES 3000 10.00
33| 42444k Sk VTN 3 B R % 3000| 10.00
34| 4250 K% EF Ak < Fh 2 5 g ES 3000 10.00
35| 4571 LE 194 8% )Y 3 5P\ thg 3000 10.00
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AEEHH BiE:
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VPR TR Nty M 3 5B | the 3000 10.00
[EZ= NN EPN TF I 2 5| GES 3000[  9.59
FAA fEAN <VEN b 3 LIP3 LY o 3000[  9.59
Wt &K Y'ayy ank 2 L:EPN i3 CY GES 3000[  9.59
THE Rt £757Y" any 2 LN LY e 3000[  9.59
U ITPS N/ELA 3 B | KEps kS 3000{  9.59
B AU DAV 3 B [ o 3000[  9.59
LIy ay) eh¥ 2 F | BRERRE R 3000[  9.58
P —F =YE AynA 2 B R BEEER S skl 30001 9.57
HH T EPZANEY 3 5 e GES 3000[  9.57
ZR K I0% BAF 3 5|k th 3000  9.56
LA gt Y<Eh 47b 3 Bk Ed | 3000[  9.55
IR S TYNT Ty 2 B ea e e 3000{  9.55
A 3vE) 7Y 3 J | B ES 3000  9.55
K Fiw AANT V4 2 5[ e 3000  9.55
B KFH 7YY tak 3 F o |lE&T ES 3000  9.55
A E Y<Eh vayw 3 B | ZEE AT e 3000{  9.55
ATt <VEN vay 3 B RE = fud ES 3000  9.54
H\ K AT BAF 2 B[R i 3000{  9.53
WA BEA VALT ayry 3 B RS EEEERE stk 30001 9.53
BIE S 2 )7 ko 3 B e 3000{  9.52
£ FoFH AYHT AR 3 B[R BES 3000  9.51
=i EN NVEYYY) 3 5| Ko thg 3000  9.50
IR T HF 3o 3 BoEER g @i 30000 9.50
fEE A 72 TA 2 B |ARHH g 3000  9.50
A e A3 A% 3 F | F g 3000[  9.50
R gk LT hAR 3 B | =R thg 3000  9.50
Hl Fhy< A 3 5B [t g 3000  9.47
MR FRK TANTG vy 3 B thg 3000  9.46
FE) N 4T aguy 1 By g 3000  9.46
= I ¥HLT A% 1 5[t ste-—m]  3000[  9.45
SH EA 234 FAF 1 B[S #3000  9.45
(RS =VH=Yay 3 B[ HE 3000  9.45
g KA Ab7 krk 3 BB i 3000{  9.45
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7#8
1| 5743\ H EHt NIE Y RER 3 B |ZHEE LT kS 3000[  9.45
2| 4575|H%A 1&A SRANEES 3 B\ AR i 3000[  9.45
3| 4361|EAR FHik e vayy 3 5[ % 3000  9.44
4 6283 EiR FAN VoY 3 B [fE L i 3000{  9.44
5|  4648|fx A it HEh vany 2 B @z e 3000[  9.43
6| 4T12|=R EAR N GAVA:k 1 B [ ES 3000{  9.42
7| 4696\ H V)R LY 3 B [ o 3000  9.41
8| 6278|ILiH A AGCAVEE S 2 5 e e 3000  9.41
9 944 | FHE  Hi BT )N IAF 1 B[R Rd [mie—1{ 3000 9.40
10[ 1280|%m = tha )y 1 BB ER R s 3000 9.40
11| 6137|#RiE HiEe SV EIAEV)| 3 B[F L i 3000{  9.40
12 6163 FH VVAAVES 3 J |t ES 3000[  9.40
13| 5653|AK KFH 17 ok 3 B ER k= 3000[  9.40
14| 5659|iH A NeR Ak 2 B |ERE ES 3000[  9.40
15[  4241|%m KT A BN 3 5 [vEm i 3000{  9.40
16 4701k ik vFy ey THN 2 By ES 3000[  9.39
17 4700|%HE K FhE vank 3 5B [k e 3000[  9.39
18  4702|4m A MEX 2 By ES 3000  9.36
19 4649 A Pk NYER B4 2 B [mEp e 3000  9.36
20| 1926|[ M W ANE vay 2 BHolams ES 3000  9.35
21| 3041|571 5LE WY kmh 3 B | TREH HiE 3000{  9.35
22| 3047|HE w4 X 3 B [Fmp BES 3000  9.35
23| 4686/ &t ay'e 2t 2 B[ p thg 3000 9.35
24| 47535 K TFIAN B AF 3 PERES BES 3000  9.35
25|  4635|HAkT PEF 157 bk 3 B [mEp LS 3000]  9.35
26 1614\ E =FH A )9 AYET 2 B w3000 9.30
27| 16977 H EAKES =VB agkny 2 BoEEs gt [Ei-—1 3000 9.30
28 952| B #F JB FynA 1 BomEs g w3000 9.30
29 954 |4k Fikk NYY AT 1 BoEEd gt [mi-—1] 30000 9.30
30| 6162\t K= vy A4k 3 B[R i 3000{  9.30
31 333|EH HhK =V8 4% 3 B o[harmmeE mkz-—fy  3000[  9.30
32| A511[=HB hiE =Ah= B3 3 J o |l&T ES 3000[  9.30
33|  4525|fERE ¥E} v’ hAb 2 B[k i 30001  9.30
34| 4513|HH &5 VEY BEYE 3 J o |l&T ES 3000[  9.30
35
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8#f

1| 4999|FAF ik 3V LT YAAY 2 B |RSLIRE T e 3000[  9.30
2| 2665|)IIA Kl HTER Tk 2 L:EPN i3 CY GES 3000[  9.29
3 875|hnkE Hith VAN 1 B R BEREEE [me-—w 3000]  9.28
4| 4691| ki Hk A 2%V 3 B |y GES 3000(  9.27
5|  2120|%[E BEXKEL U= Ay 3 B EE =fo th 3000  9.26
6| 2657 BMH—RB M YA FrY 3 B | KEps g 3000{  9.26

7 Y(IESIAR 11 Yo Ak 3 BoREEs g [mR—w 3000  9.25
8| 5745[/ME JEE ANy Yagsq 3 J | ERE LT th 3000  9.25
9] 4681[LH & Y8 vayag 3 5 |kah o 3000{  9.20
10 759| e Y B [ KinEks w3000  9.20
11| 5831|ku #E vIA) T 3 B AR th 3000[  9.20
12 1701|1im #H&E Y4 vana' 2 BoREE g [mle—-w 3000 9.19
13| 4638|454 R HA ARARS b 3 B [mEp e 3000  9.19
14 94 £ TEK OEE VL 3 B RREREREE sk 3000 9.16
15[  2121|fm ER A48 F9AF 2 B RE =R th 3000 9.15
16 943|F A HE JEN BHY 1 B |\BURERd stk 30001 9.15
17 7992|fiTH Bk <xh A4 3 5B |HhEmy e 3000 9.15
18 5746|1EM =5 vayung A3 2 B | ERE T the 3000 9.15
19 2659|AL% HEKR 2 VE 28 3 KRB th 3000 9.12
20| 5834|fmMH Pt 798" ay 3 AR g 3000{  9.10
21| 6136k F=1h e F ARG 3 B [H il 2 3000  9.10
22| 1678|MEF b Ah) MY 2 B REEE RS s 3000 9.10
23 204 | &M K& S VE S 3 B |BUREHR R |mie—d 3000  9.09
24 954 KAt R ES 3 B R BEEE S [we-—w 3000]  9.09
25|  6281|ZEM KA IR A% 3 B |y LS 3000{  9.09
26|  4631|HF Pk FHAT A 3 5 |mET g 3000[  9.08
27| 1680[dt®F FLK ¥4 tovy 2 B R BEEERE [sk-—i 30001 9.07
28 8T6[RER =I5 Vv R IEE A 1 BOREEEEERE [mee -1 3000 9.06
29 30| R ANE oAy 3 B[R #3000  9.05
30 84| E ik Ik BY 1 F |t mke-—#{ 3000  9.05
31 84911 = AT 2k 1 B[R miz-—1  3000]  9.05
32| 3086|MEMH 1k 7R Ay 5 e E kR mike-—# 3000  9.04
33 198[ i 7 FhY< V% 3 BoEET Rt [Eie— 30000 9.04
34| 6319k L % INYN A 2 B [Em i 3000{  9.01
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1 98|FRAK FIF TUFA VA 3 B R BEEEERE sk 3000[ 9.01

2| 1620 k& A2 yIE) AV 2 J |t w3000  9.00

3| 1612[/11 FHEAER AN hrssay 2 5 [tE mike-—# 3000  9.00

4|  1604[phm BE EVEVIAYS 2 J |t mie-—# 3000  9.00

5| 1621|m¥E =5 VanIENE 2 5|tk mi-—# 3000  9.00

6 846|HE 15— Fht vy 1 J |t w3000  9.00

7| STAL|EIR HE ANNT A= 3 B | ZEE T o 3000{  9.00

8| 5742|kKf  HE NELT bRV 3 B |ERERT ES 3000{  9.00

9| 4721[ILuA HA YR Vayrr 3 B [EmEsmt th 3000[  9.00
10| 3487|#HH & TV bk B |k e 3000 8.59
11 1619 IE Y INT B3 2 5B |tk #f—  3000]  8.59
12 844(t@H F KA 708 v ay 1 B[S w3000  8.59
13| 1699|&iE ek BANY WV 2 B |sURE g |Eke—m 30001  8.59
14 949| I fik NEDY 1 BoREE g [mie—-w 3000 8.59
15 950| AR HEE NIEN V= 1 B |sURE kg |Eke—m 3000  8.59
16| 1681[dbiL #4h Yoy~ 2y 2 B EBEERE S [we-—# 3000] 8.59
17 8T7|HA A} SAERED 1 B VR BEE b S (s 3000]  8.59
18 RYAS i T T TR 3 B |hrEEE @k 30001  8.59
19  4301|fEm BEEx NFEH A 3 F o |ReEr th 3000[  8.59
20 200(H | AERER 4)yx 2y ay 3 BoEE g w1 3000 8.58
21| 5081|112 FoAT kE'% 3 F[EEEp i 3000{  8.56
22| 5083 FHK AT vank 3 B[R i 3000{  8.56
23|  1610|fRH YAL Ty~ 2 B[R w3000  8.56
24| 1682|#EA T 7Y Eb bnT¥ 2 B R EEE RS sk 3000[  8.56
25 R [ IS N Lo 3 B[R #3000 8.55
26 RYIE NS VA SN 3 B[S @i 30001  8.55
27| 1609|%fJ5 iz ok INT Yay= 2 5B |tk miz-—#  3000|  8.55
28 951|8 HHx DA 1 B sURE g sk 3000] 8.55
29 29|mE hZE TV A 2% 3 5B |tk miz-—] 3000  8.54
30| 1615|RJI Kk T v 2 B[S @i 3000  8.54
31 850 A fEA AVEN Ik 1 5[t mkz-—fy  3000]  8.54
32 206(m3 Ak LA bEY 3 B |sEE g |-l 3000 8.54
33| 1696 KB #i HaviR'y UV 2 B[R @] 3000  8.54
34| 1702|FEIR {h7 VAVAEVE:S 2 o [REET Rt @i 3000  8.54
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1| 4995|#% tEE ) vauw 3 B RSTIE R the 3000  8.54

2 839w ¥HK AN EY 1 B[ wie—f 30001  8.53

3 848|HE A BRI IVF Yara'q 1 5|t Ef—f  3000|  8.53
4 4639/NT A ax akh 3 F o |mEF GES 3000[  8.52

5|  1602[f8 R w3 p4% 2 B[S Hi 3000{  8.50

6 8TA[EH Hh, 95 B I% 1 B VEBEERE S [Ei- - 3000 8.50

7 8T8|EA FL NTED LAY 1 B R SEEE R sk 3000 8.50

8 205 ik 4 ansf 3 B |mEsT g |Eke—i 3000  8.49

9 203/ B ANE 2k 3 B [REES G [mie—1{ 3000]  8.49
10| 2107|%#& #3t TUY% Wb 2 BoREE g @l 3000] 8.49
11| 1683|#& =% K ) YyF agy 2 B VEBEE b S (s 3000]  8.49
12[  1613[ KA #t AAEN AV% 2 F |t wke-—m 3000  8.45
13  1601|[iE AHE A% puy 2 5 [tE #e—f  3000|  8.45
14 1677|4HL KOHE 1o B 4% 2 B R BEB R sk 3000 8.45
15 197|587k F4h MR AR 3 BoIEER g &k 3000 8.44
16| 1617|=i# K& W7 Ay 2 B w3000 8.40
17 201 |3 ARk % 394 3 BoREEhdg (& 3000 8.39
18] 17003 5% ey ey 2 BB g |tk 3000 8.39
19 882|H M JH EPZ A 1 B VEEEBEERE G (w1 3000]  8.39
20 34| EAR FHzE yIEh V7 3 B[S w3000  8.37
21 38|k FE LY A4 3 B[R ] 3000 8.35
22 S41|HE HFAr Fh) rvE 1 B w3000 8.35
23 838t TIE vay 1 B[R @ie-—m 30001  8.35
24 8428  #/ov VuR= Ay )y 1 B[S w3000  8.34
25|  1679|3RIE Wt NANT FAY 2 B ORBEEE S [ —1 3000] 8.33
26 28 A4 T A7EN =Fh 3 B[S w3000  8.32
27 32| B & VEVEYYY, 3 B[R @ie-—m 3000  8.32
28 840|HA HIK IVEN vkm 1 F |t mke-—m 3000  8.30
29 213| 3 Rk M4 7Vkn 3 B s skl 30000 8.29
30 36|AMHEN Ik vLHAF Ak 3 F |t w3000  8.24
31 27|HR 1L ARAHD BV Y= ) huy 3 B[R @k —fd  3000[  8.20
32| 1616|AA %K J7EN A 2 B[S w3000  8.20
33|  1607|HH#r FHAK Fh) vanh 2 B[R mie-—m] 3000  8.20
34 851|var rv=% |vav av=% 1 Bt fke-—m] 3000 8.00
35




